Chapter 16 Variance Analysis

Answer – Exercise 1
(a)
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Examination Style Questions
Answer 1

(a)
Flexed budget

	
	Original budget
	Flexed budget
	Actual cost
	Total variance

	Units of J
	20,000
	18,500
	18,500
	

	
	$
	$
	$
	$

	Direct materials
	480,000
	444,000
	442,650
	1,350 (F)

	Direct labour
	140,000
	129,500
	129,940
	440 (A)

	Variable overhead
	60,000
	55,500
	58,800
	3,300 (A)

	Fixed overhead
	100,000
	100,000
	104,000
	4,000 (A)

	
	780,000
	729,000
	735,390
	6,390 (A)


(b)

Material price variance = (SP – AP) x AQ

= (113,500 x $4) – $442,650

= $11,350 (F)

Material usage variance = (SQ – AQ) x SP

= [(18,500 x 6) – 113,500] x $4

= 10,000 (A)

Wage rate variance = (SR – AR) x AH

= ($7 x 17,800) – $129,940

= $5,340 (A)

Labour efficiency variance = (SH – AH) x SR

= (18,500 x 1 hour – 17,800) x $7

= $4,900 (F)

Answer 2
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Answer 3
(a)(i)

SIMPLY SOUP Limited
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(a)(ii)
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(b)

[image: image11.emf]
[image: image12.emf]
Answer 4
(a)

The performance of the production director could be looked at considering each decision in turn.
The new wood supplier: The wood was certainly cheaper than the standard saving $5,100 on the standard the concern though might be poor quality. The usage variance shows that the waste levels of wood are worse than standard. It is possible that the lower grade labour could have contributed to the waste level but since both decisions rest with the same person the performance consequences are the same. The overall effect of this is an adverse variance of $2,400, so taking the two variances together it looks like a poor decision. As the new labour is trained it could be that the wood usage improves and so we will have to wait to be sure.
The impact that the new wood might have had on sales cannot be ignored. No one department within a business can be viewed in isolation to another. Sales are down and returns are up. This could easily be due to poor quality wood inputs. If SW operates at the high quality end of the market then sourcing cheaper wood is risky if the quality reduces as a result.
The lower grade of labour used: SW uses traditional manual techniques and this would normally require skilled labour. The labour was certainly paid less, saving the company $43,600 in wages. However, with adverse efficiency and idle time of a total of $54,200 they actually cost the business money overall in the first month. The efficiency variance tells us that it took longer to produce the bats than expected. The new labour was being trained in April 2010 and so it is possible that the situation will improve next month. The learning curve principle would probably apply here and so we could expect the average time per bat to be less in May 2010 than it was in April 2010.
(b)

Variance for May 2010:

Material price variance ($196,000/40,000 – 5) x 40,000 = $4,000 Fav

Material usage variance (40,000 – (19,200 x 2)) x $5/kg = $8,000 Adv

Labour rate variance ($694,000/62,000 – 12) x 62,000 = 50,000 Fav

Labour efficiency variance (61,500 – 57,600) x 12 = 46,800 Adv

Labour idle time variance 500 x 12 = 6,000 Adv

Sales price variance (68 – 65) x 18,000 = 54,000 Adv

Sales volume contribution variance (18,000 – 19,000) x 22 = 22,000 Adv
Answer 5
(a)
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(b)

Controlling variable costs

The first step in the process of controlling costs is to measure actual costs. The second step is to calculate variances that show the difference between actual costs and budgeted or standard costs. These variances then need to be reported to those managers who have responsibility for them. These managers can then decide whether action needs to be taken to bring actual costs back into line with budgeted or standard costs. The operating statement therefore has a role to play in reporting information to management in a way that assists in the decision-making process.
The operating statement quantifies the effect of the volume difference between budgeted and actual sales so that the actual cost of the actual output can be compared with the standard (or budgeted) cost of the actual output. The statement clearly differentiates between adverse and favourable variances so that managers can identify areas where there is a significant difference between actual results and planned performance. This supports management by exception, since managers can focus their efforts on these significant areas in order to obtain the most impact in terms of getting actual operations back in line with planned activity.
In control terms, variable costs can be affected in the short term and so an operating statement for the last month showing variable cost variances will highlight those areas where management action may be effective. In the short term, for example, managers may be able to improve labour efficiency through training, or through reducing or eliminating staff actions which do not assist the production process. In this way the adverse direct labour efficiency variance of £252, which is 7·3% of the standard direct labour cost of the actual output, could be reduced.
Controlling fixed production overhead costs

In the short term, it is unlikely that fixed production overhead costs can be controlled. An operating statement from last month showing fixed production overhead variances may not therefore assist in controlling fixed costs. Managers will not be able to take any action to correct the adverse fixed production overhead expenditure variance, for example, which may in fact simply show the need for improvement in the area of budget planning. Investigation of the component parts of fixed production overhead will show, however, whether any of these are controllable. In general, this is not the case.
Absorption costing gives rise to a fixed production overhead volume variance, which shows the effect of actual production being different from planned production. Since fixed production overheads are a sunk cost, the volume variance shows little more than that the standard hours for actual production were different from budgeted standard hours. Similarly, the fixed production overhead efficiency variance offers little more in information terms than the direct labour efficiency variance. While fixed production overhead variances assist in reconciling budgeted profit with actual profit, therefore, their reporting in an operating statement is unlikely to assist in controlling fixed costs.
Answer 6
(a)(i)

Sales margin (profit) volume variance:

(Actual volume – Budgeted volume) × Standard margin (£3) = $5,250 Adverse

(Actual volume × Standard margin) – (Budgeted volume × Standard margin) = $5,250A

(Actual volume × Standard margin) – $30,000 = –$5,250

(Actual volume × Standard margin) = $24,750

Actual volume = $24,750/$3 = 8250 units
(a)(ii)

Labour efficiency variance:

(Standard hours – Actual hours) × Standard rate = $4,000 Adverse

(Standard hours × Standard rate) – (Actual hours × Standard rate) = –$4,000

(8,250 units × 4 hours =33,000 × $4) – (Actual hours × $4) = –$4,000

$132,000 – (Actual hours × $4) = –$4,000

Actual hours × $4 = $136,000

Actual hours = $136,000/$4 = 34,000 hours
(a)(iii)
Material usage variance:

(Standard quantity – Actual quantity) × Standard rate = $400F

(Standard quantity × Standard rate) – (Actual quantity × Standard rate) = $400

(8,250 × 5 litres = 41,250 litres × $0.20) – (Actual quantity × $0.20) = $400

$8,250 – (Actual quantity × $0.20) = £400

Actual quantity × $0.20 = $7,850

Actual quantity used = 39,250 litres

Actual quantity purchased = 39,250 – stock decrease (800) = 38,450 litres
(a)(iv)

Total variable overhead variance:

Standard variable overhead cost – Actual cost = $500 Adverse

(8250 × $6 = $49,500) – Actual cost = 
$500

Actual cost = $50,000
(a)(v)

Fixed overhead expenditure variance:

Budgeted cost – Actual cost = $500 Favourable

10,000 units × $14 = $140,000 – Actual cost = $500

Actual cost = $139,500
Note:

	Budget output =
	Budgeted profit ($30,000)

	
	Standard profit margin ($3)


(b)
Standard costing is most suited to an organization whose activities consists of a series of common or repetitive operations. Standard costing procedures cannot easily be applied to non-manufacturing activities where the operations are of a non-repetitive nature, since there is no basis for observing repetitive operations and consequently standards cannot be set.
In those non-manufacturing organizations where routine operations do not exist, standard costing cannot easily be applied. Instead, budgetary control is used to control costs. A budget relates to an entire activity or operation whereas standards can be applied to the units of output and thus provide a basis for the detailed analysis of variances. Therefore budgeting focuses on controlling costs at the aggregate level and does not analyse the difference between actual and budgeted expenditure by price and quantity variances.
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